logAYIAY,) CIE-Normfarbwertdifferenz log(AY/AY,) CIE-Normfarbwertdifferenz
CIELAB AY normiert fir AY,, CIELAB AY normiert fur AY,
2 2
L* cieias =116(Y/Y) Y3-16  (¥,=100, 0,8% ) [2a] L* cieias =116(Y/Y) =16 (¥,=100, 0,8% Y) [2a]
L* cieLag =65,4(Y/Y) 16 (Y,=18, 0,89< Y) [2b] L* cieLag =65,4(Y/Y,) 3-16  (v,=18, 0,8% V) [2b]
! Anwendungs-| 1 Anwendungs-
PXCIIEL XSS
- -
L cipan S =86 gg o ”
L* cieLaB,u =49, Y,=18
038 e e ce e e oo SEhY e SO
5 Yy=3.61 1Y,=18 Yy =90 o Yy,=90
0 50 100 150Y 100 150Y
e =
log(AY/IAY,) CIE-Normfarbwertdifferenz log(AY/AY,) CIE-Normfarbwertdifferenz
CIELAB AY normiert fur AY,, CIELAB AY normiert fir AY,,
2 2
L* cieias =116(Y/Y) ¥3-16  (¥,=100, 0,89 ) [2a] L* cieias =116(Y/Y) =16 (¥,=100, 0,8% Y) [2a]
L* cieLag =65,4(Y/Y) 16 (Y,=18, 0,89<Y) [2b] L* cieLag =65,4(Y/Y,) 3-16  (v,=18, 0,8% Y) [2b]
1 1
. 1 me .
oft e ZL VLS o5 ¢
L* cieLaB,u =49, Yy (}]3 .
e
. Ya=361 1Y,=18 Yyy=90 . Y\=3,61 1Y,=18 Yyy=90
0 50 100 150Y 0 50 100 150Y
=

egas0-7a,

ega30-7n



